SAP ABAP table ICSPOLOSI {Insured Site}

ADRC

CLIENT [CLNT (3)]

- 0.N

ICSPOLOSI-ADDRESS = ADRC-ADDRNUMBER | ADDRNUMBER [CHAR (10)]
- DATE_FROM [DATS (8)]

NATION [CHAR (1)]

ICLPOL
CLIENT [CLNT (3)]
0. N |ACTIVE [CHAR (1)]
CLAIM [CHAR (17)]
POLVNR [NUMC (2)]

ICLPOLO
CLIENT [CLNT (3)]
ACTIVE [CHAR (1)]
CLAIM [CHAR (17)]
POLVNR [NUMC (2)]
INSUREDOBJ [NUMC (4)]

N TOOO
MANDT [CLNT (3)]

TICL303
CLIENT [CLNT (3)]
PROPCAT [CHAR (2)]
PROPUSE [CHAR (2)]

= -

USRO2
____________ MANDT [CLNT (3)]
BNAME [CHAR (12)]




